Aim:  How do nations use opportunity cost in decision making?

How nations use opportunity cost:  
Part I:  In determining specialization between two countries

· Nations can use opportunity cost by comparing two production cycles to determine comparative advantage.  

· Nations might use an advanced opportunity cost formula which measures changes in production as a different combination of goods/services are produced.

In the example below, are two American and Canadian production cycles.  

This is only a small addition to the previous opportunity cost formulas – adding changes in production/changes in time instead of just final production/final time:    

Opportunity Cost Formulas:    


To help support the theory of opportunity cost, there are two different formulas to calculate when you produce one product, more of the other must be given up.   

1)  The most basic formula is determining the opportunity cost of goods being produced, which is called “OUTPUT”:  
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This is also known as “given up over chosen”

2)  There is also the opportunity cost of time, land, resources, etc. spent producing that chosen activity, which is known as “INPUT” and is set up the opposite way (or chosen over given up)  
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opportunity cost of good X = Time needed for Good Y production




*When writing the opportunity cost after you calculate it, write down the "opportunity cost of good x is ______ units of good y."  
So if we have a schedule (different production combinations) of two countries, we can compare that schedule to each country to determine absolute advantage, comparative advantage and specialization.  

American production Cycle




Canada Production Cycle

	Points in Production Cycle
	parachutes
	stockings

	A
	0
	40

	B
	4
	32

	C
	8*
	24*

	D
	12
	16

	E
	16
	8

	F
	20
	0


	Points in Production Cycle
	parachutes
	stockings

	A
	0
	30

	B
	2
	24

	C
	4
	18

	D
	6*
	12*

	E
	8
	6

	F
	10
	0


Using these tables and the above formula:  determine the following:

Step 1:  Create corresponding chart

Hint 1:  use 0 as a starting point or asterisk and calculate change in production points

1) Who has the absolute advantage in the production of parachutes? Explain.  (Hint:  look for when they produce only one good)
2) Who has the absolute advantage in the production of stockings? Explain.  

3) Who has the comparative advantage in the production of parachutes? Explain. 

4) Who has the comparative advantage in the production of stockings? Explain.  
5) Who should specialize in parachutes?  Why?

6) Who should specialize in stockings?  Why?

Part II:  Using Opportunity Cost to create a representation of the Economy

Economists use graphs to create visuals of economic situations and theory.      

Using the production schedule, When you plot the points of the production schedule on the graph, this is known as a Production Possibilities Curve/Frontier (or Production Possibilities Graph)  


The production possibilities curve is a graphical representation of the country’s ability to produce certain goods as well as of its opportunity cost for producing those goods  -- it illustrates that a nation cannot have maximum output of both types of goods and that it can only produce a certain amount or combination of each at a given time.  A nation must sacrifice some of one to produce some of another and if a nation wants to produce more of one, it must sacrifice some of the other.   

*You can use the Opportunity Cost to plot the points on the graph, as the answer gives you the slope (rise over run).   


*A production possibilities curve that is a straight line, means that there is a constant opportunity cost – the opportunity cost remains the same throughout the amount of increased production and units given up – the opportunity cost does not change as you trade-off.  


The points on the production cycle represent the points on the graph and the opportunity cost of the production cycle represents the slope of the graph
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All points along the Production Possibilities Frontier assumes the following are constant:  



1.  That all resources (factors of production) are fully employed



2.  Technology (capital) is constant



3.  Quality of resources is constant

Because of these constants and because the graph is based on a production schedule and the nations opportunity cost, this graph helps us to represent the following about an economy:  





*This means that all points along the line represent the maximum combination of goods that can be produced because the nation is maximizing the use of its resources.  





*This also means that if a nation were operating at a point inside the curve (for instance making a combination of 5 parachutes and 5 stockings) then this nation is not utilizing all of its resources efficiently and could be suffering from a economic crisis (such as unemployment, in which the labor resource is not fully employed)





* This also means that points outside of the PPC are not obtainable with current resources because resources are already being maximized and most efficiently used.  So a nation could not achieve 20 parachutes and 20 stockings produced with their current resources.  





*If a nation increases its production potential with a permanent/long-term increase in the quality or quantity of resources or technology, this would affect a nation’s long-term production capacity and then the current line would shift to the right – resulting in and illustrating increased production possibilities, not only achieving a single point outside the PPC, but achieving a total increase possible combination of goods.  





***However, 





*However, if for some reason a nation a nation experiences a permanent/long-term decrease in the quality or quantity of resources or technology, this would affect a nation’s long-term production capacity for the worse and then the current line would shift to the left – resulting in and illustrating decreased production possibilities.  




*If nations engage in specialization and trade based on opportunity cost, this would result in achieving a point outside the graph and not a shift of the graph because their products have increased but their productivity has not.  

*******Graphing Always Rules******

These rules apply for all of the graphs that we will  encounter:  

Shifts represent that the x and y axis variables have not changed, but another factor beside that did.  

A shift to the right always signifies and increase

A shift to the left always signifies a decrease.  

Graphical illustrations:  
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Part II Questions:  
1)  What is the Production Possibilities Curve/Frontier?

2)  How does the Production Possibilities Curve illustrate that a nation cannot have maximum output of both types of goods?

3)  In order to be operating along a PPC, Why must the three factors the PPC assumes are constant be constant?

4) Why can a nation not achieve a point outside of the PPC with its current resources?
5)  Why might a point inside the PPC represent unemployment?  

5) How can a nation achieve a point outside the PPC?

6)  Why would an increase in productivity result in a shift to the right of the graph?  

7)  Why would a decrease in productivity result in a shift to the left of the graph?

Part IV:  Law of Increasing Costs


In the example of parachutes and stockings, the two products, while both using the same material require some different resources and skills.  Another example of goods that do not match are capital (industrial) and consumer goods.  If the opportunity cost of these were to be illustrated on a graph, the graph would look concave because of the law of increasing costs.  

The law of increasing costs states that as more of a product is produced, the opportunity cost increases.  This is because resources are not being properly allocated or allocated in the most efficient manner possibly as more resources are diverted from one product to the other.  


(example, choosing to produce war weapons over educational resources:  the people/resources needed, don’t exactly match up, and the strain of production increases).  



*This is represented in the Production Possibilities Curve as a concave (curved) line facing away from the origin (0-0).  



*Sometimes the opportunity costs decrease (if the two industries are well related) and the curve is concave toward the origin.  
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1)  Why would a PPC be concave?  How does it illustrate the law of increasing costs?  
